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    INSTRUCTIONS TO CANDIDATES

 1. The Question Paper will be given in the form of a Question Booklet. There will be four 
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet 
of the Question Booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in 
the Examination Hall.

 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha 
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your 
Question Booklet is un-numbered, please get it replaced by new Question Booklet with same 
Alpha Code.

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should 
not open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the  candidate should check that 
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The 
Question Booklet does not have unprinted or torn or missing pages and if so he/she should 
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha 
Code. This is most important.

 8. Question Serial No. 1 to 80 are printed both in English and in Official Language (Malayalam). 
Doubts regarding the meaning and translation of Question Serial No. 1 to 80 will be settled 
based on the Questions in English.

 9. Two blank pages are provided before the last page of this Question Paper for rough 
work.

 10. Please read carefully all the instructions on the reverse of the Answer Sheet before 
marking your answers.

 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 
Choose the correct answer and darken the bubble corresponding to the question number 
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

 12. Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be 
deducted. No negative mark for unattended questions.

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure 
that the Invigilator has verified all the entries in the Register Number Coding Sheet and 
that the Invigilator has affixed his/her signature in the space provided.

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any 
kind of malpractice in the Examination will result in the disqualification of the candidate.
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 1. Consider the following statements :
  The legendary ruler Marthanda Varma won a decisive victory against the Dutch 

which was

 i. The most fearsome military and colonial power of the time.

 ii. A quasi-government in Travancore.

 iii. A trading company.

 iv. The ruler of Kerala.

  Which of the statements given above is/are correct ? Select the answer using the 
options given below.

 A) Only ii   B) Only i

 C) Only ii and iii   D) Only  iv

 2. Which of the following statements is correct about the formation of the Indian National 
Congress in 1885 ?

 i. It was started by the British initiative to act as the Safety Valve to curb anti-British 
feeling.

 ii. It was the culmination of political awakening and national consciousness to achieve 
anti-imperialist objectives.

 iii. The educated elites founded it to fulfil their aspirations of grabbing political power.

 iv. It was founded by Mahatma Gandhi.
  Select the correct answer using the options given below.

 A) Only iii   B) Only i 

 C) Only ii   D) Only iv

 3. Consider the following statements about the Round Table Conference, 1930 – 31 :

 i. The British fostered the idea that the conference was a failure in order to diffuse the 
success of the Civil Disobedience Movement.

 ii. Gandhi returned empty handed from the Conference.

 iii. The British were serious about granting Responsible Government to India.

 iv. India was promised independence at the Conference.

  Which of the statements given above is correct ? Select the answer from the options 
given below. 

 A) Only i and iv   B) Only ii 

 C) Only iii   D) Only i
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 1. fLRuÕrpOÐ NkñLvjW¥ kq]Ye]¨OW.
  Cf]zLy nqeLi]WLq] oL¡¾L¼v¡Ú c\ÿOWL¡R¨f]Rq j]¡eLpW v]̂ pU Sja]pfV

 i. A¨LsR¾ JãvOU npLjWoLp RRyj]W, RWLStLe]p¤ w©].

 ii. f]qOv]fLUWPr]Rs KqO A¡È y¡¨L¡.

 iii. KqO SNac]UYV WÒj].

 iv. SWqt¾]R£ nqeLi]WLq].

  oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV wq] ? j]°¥¨V j¤W]p]q]¨OÐ 
KLkVxjOW¥ DkSpLY]\ÿV D¾qU f]qR´aO¨OW.

 A) ii oLNfU   B) i oLNfU

 C) ii DU iii DU oLNfU   D) iv oLNfU

 2. 1885-¤ CÍ|¢ jLxe¤ SWL¦NYy]R£ qPk}WqeR¾¨Or]\ÿV fLRu krpOÐvp]¤ 
JfLeV wq] ?

 i. Nm]Ÿ}xV v]qOÈ v]WLqU fapOÐf]jOç yOqƒL vL¤vLp] Nkv¡¾]̈ L¢ Nm]Ÿ}xV 
yUqUnoLeV CfV BqUn]\ÿfV.

 ii. yLNoL^|f~ v]qOÈ sƒ|°¥ RRWvq]¨LjOç qLNì}p De¡v]R£pOU Shw}p 
 SmLi¾]R£pOU kq]yoLkÅ]pLp]qOÐO AfV.

 iii. v]h|LyÒÐqLp vSqe|v¡YU qLNì}p Ai]WLqU k]a]R\ÿaO¨LjOç AvqORa   
An]sLx°¥ j]rSvãOÐf]jLeV CfV òLk]\ÿfV.

 iv. CfV òLk]\ÿfV ozLÄLYLÌ]pLeV.
  \OvRa j¤W]p]q]¨OÐ KLkVxjOW¥ DkSpLY]\ÿV wq]pLp D¾qU f]qR´aO¨OW.

 A) iii oLNfU   B)  i oLNfU 

 C) ii oLNfU   D) iv oLNfU

 3. 1930 oOf¤ 31vRq jaÐ vŸSow ySÚtjU yUmÌ]\ÿ fLRuÕrpOÐ NkñLvjW¥   
kq]Ye]¨OW.

 i. y]v]¤ j]ôzWqe NkòLj¾]R£ v]^pU v|Lk]¨OÐf]jLp] ySÚtjU  
kqL^pRÕŸORvÐ BwpU Nm]Ÿ}xOWL¡ vt¡¾].

 ii. ySÚtj¾]¤  j]ÐV RvrORRWSpLRapLeV YLÌ] oa°]pfV.
 iii. CÍ|àV D¾qvLh]¾oOç y¡¨L¡ j¤WOÐf]¤ Nm]Ÿ}xOWL¡ YTqv¾]sLp]qOÐO.
 iv. ySÚtj¾]¤ CÍ|àV y~LfNÍ|U vLYVhLjU R\pÅO.
 oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV wq] ? j]°¥ V̈ j¤W]p]q]¨OÐ 

KLkVxjOW¥ DkSpLY]\ÿV D¾qU f]qR´aO¨OW. 

 A) i DU iv DU oLNfU   B) ii oLNfU 

 C)  iii oLNfU   D)  i oLNfU
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 4. Consider the following statements :
   The American Revolution of 1776 precipitated into serious and open conflict against 

Great Britain because

 i. The Americans opted to go outside the British empire and its controlling system.

 ii. The Americans were inspired by democracy and republicanism.

 iii. The British Government in the colonies treated Americans as subjects of British 
monarchs.

 iv. The Americans desired freedom from Britain.

  Which of the statements given above is/are correct ? Select the answer from the 
options given below.

 A) Only ii and iv   B) Only i and iii

 C) Only i and ii   D) All of the above

 5. Consider the following statements :
  The pre-revolutionary France was characterised by feudal economy and society 

because of

 i. Existing royal absolutism.

 ii. Prevailing government corruption.

 iii. Division of French economy and society into orders or estates.

 iv. The formation of the National Assembly.

  Which of the statements given above is/are correct ? Select the answer from the 
options given below.

 A) Only ii and iv   B) Only iii 

 C) Only i   D) None of the above

 6. The National Education Policy (NEP) addresses many growing imperatives of India 
because

 i. It will help establish highest educational standards.

 ii. It will facilitate Indian educational institutions to set up their campuses in foreign 
countries as well as allow foreign universities to set up their campuses in India.

 iii. It lays emphasis on multidisciplinary education to result in high quality learning and 
research.

 iv. It focuses on no separation between the streams of arts, commerce and science.

  Select the correct answer from the options given below.

 A) Only ii   B) Only i 

 C) Only iii and iv   D) All of the above
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 4. fLRuÕrpOÐ NkñLvjW¥ kq]Ye]¨OW.
  1776-Rs ASoq]¨¢ v]kævU SNYãV Nm]Ÿj]¤ v}ºOU YOqOfqoLpfOU fOrÐfOoLp 

yUZŸj¾]Ss V̈ jp]\ÿO. WLqeU
 i. Nm]Ÿ}xV yLNoL^|¾]jOU Af]R£ j]pNÍe yUv]iLj¾]jOU kOr¾V SkLWL¢ 

ASoq]¨¨L¡ f}qOoLj]\ÿO.
 ii. ^jLi]kf|¾]sOU r]Õmæ]¨j]y¾]sOU ASoq]¨¨L¡ NkS\LhjU D¥R¨Lº]qOÐO.
 iii. SWLtj]Wt]Rs Nm]Ÿ}xV y¡¨L¡ ASoq]¨¨LRq Nm]Ÿ}xV qL^L¨ÓLqORa Nk^WtLp] 

We¨L¨].
 iv. ASoq]¨¨L¡ Nm]Ÿj]¤ j]ÐV y~LfNÍ|U BNYz]\ÿO.

   oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV wq] ? j]°¥¨V j¤W]p]q]¨OÐ 
KLkVxjOW¥ DkSpLY]\ÿV D¾qU f]qR´aO¨OW.

 A) ii DU iv DU oLNfU   B) i DU iii DU oLNfU

 C) i DU ii DU oLNfU   D) oOWt]¤ kr´ IsæLU

 5. fLRuÕrpOÐ NkñLvjW¥ kq]Ye]¨OW.
  v]kæv¾]jO oOÒOç NlL¢y]R£ yv]Swxf l|Pc¤ yÒhVv|vòpOU yoPzvOoLeV. 

WLqeU

 i. j]sv]sOç qL^W}p yÒP¡¹f.

 ii. j]sv]sOç y¡¨L¡ Au]of].

 iii. NlµV yÒhVv|vòRppOU yoPzR¾pOU KL¡crOW¥ ARsæË]¤ ISðãOWtLp]  
v]n^]¨OW.

 iv. Shw}p AyUmæ]pORa qPk}WqeU.

  oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV wq] ? j]°¥¨V j¤W]p]q]¨OÐ 
KLkVxjOW¥ DkSpLY]\ÿV D¾qU f]qR´aO¨OW.

 A) ii DU iv DU oLNfU   B)  iii oLNfU 

 C)  i oLNfU   D) oOWt]¤ RWLaO¾]q]¨OÐf]¤ KÐOosæ

 6. Shw}p v]h|Ln|Ly jpU (NEP) CÍ|pORa v¡È]\ÿO vqOÐ j]qvi] Bvw|WfWRt  
An]yUSmLij R\áOÐO. WLqeU

 i. CfV Dp¡Ð v]h|Ln|Ly j]svLqU òLk]¨L¢ yzLp]¨OU.
 ii. CfV CÍ|¢ v]h|Ln|Ly òLkj°¥ V̈ AvqORa WLÒyOW¥ v]Shw qL^|°t]¤ 

òLk]¨OÐf]jOU v]Shw y¡vWsLwLsW¥ V̈ AvqORa WLÒyOW¥ CÍ|p]¤ 
òLk]¨OÐf]jOU AjOvh]¨OU.

 iii. Dp¡Ð YOeSoÓpOç kbj¾]jOU YSvxe¾]jOU WLqeoLWOÐf]jV o¥Ÿ]&c]y]kæ]jr] 
v]h|Ln|Ly¾]jV CfV DTÐ¤ j¤WOÐO.

 iv. B¡aVyV, SWLSouVyV, wLNñU IÐ} v]nLY°¥ fÚ]sOç Sv¡f]q]v]sæLRf CfV èÈ 
SWNÎ}Wq]¨OÐO.

  \OvRa j¤W]p]q]¨OÐ KLkVxjOW¥ DkSpLY]\ÿV wq]pLp D¾qU f]qR´aO¨OW.
 A) ii oLNfU    B) i oLNfU 
 C) iii DU iv DU oLNfU   D) oOWt]¤ kr´ IsæLU
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 7. Match the List – I with List – II and select the correct answer using the codes given 
below the list.

  List – I  List – II

  (Peak)  (Range)

 i. Dhupgarh a. Nilgiri

 ii. Gurusikhar b. Satpura

 iii. Anamudi  c. Aravalli

 iv. Dodabetta d. Annamalai

 A) i – d  ii – c  iii – b iv – a

 B) i – b  ii – d  iii – a iv – c

 C) i – b  ii – c  iii – d iv – a

 D) i – c  ii – a  iii – d iv – b

 8. A warm ocean current appearing along the coast of Peru generally during 
December

 A) Oyashio current B) El-Nino current C) Kuroshio current D) California current

 9. Consider the following statements related to seismic waves. Which of the given 
statement/statements are correct ?

 a. ‘Surface waves’ cover largest distance of all seismic waves.

 b. ‘P’ waves travel with fastest speed through solid material.

 c. ‘S’ waves can pass through both solid and liquid medium.

 A) Only a is correct   B) a, b and c are correct 

 C) a and b are correct   D) b and c are correct

 10. Lacustrine deposits found in the valley of Kashmir

 A) Karewa   B) Terai

 C) Bhangar   D) Khadar

 11. In which district of Kerala, Dhoni waterfall is located ?

 A) Kasargod   B) Malappuram

 C) Kannur   D) Palakkad

 12. In which State of India, World’s longest Highway tunnel, Atal tunnel is located ?

 A) Himachal Pradesh   B) Sikkim

 C) Jammu and Kashmir   D) Arunachal Pradesh
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 7. s]ðV – I oLp] s]ðV – II SpL ]̂Õ]̈ OW. s]ð]jV fLRu j¤W]p]q]̈ OÐ SWLcOW¥ DkSpLY]\ÿV 
wq]pLp D¾qU f]qR´aO¨OW.

  s]ðV – I  s]ðV – II

  (k} V̈ )  (SrµV )

 i. iPkVYcV a. j}sY]q]

 ii. YOqOw]X¡ b. yfVkOq

 iii. BjoOa]  c. Bqvsæ]

 iv. RhLcRmŸ d. A¹LoRRs

 A) i – d  ii – c  iii – b iv – a

 B) i – b  ii – d  iii – a iv – c

 C) i – b  ii – c  iii – d iv – a

 D) i – c  ii – a  iii – d iv – b

 8. c]yUmr]¤ RkrO f}q¾V yLiLqepLp] WLeRÕaOÐ KqO \PaOç yoONh NkvLzU
 A) KpLx]SpL Wr£V   B) I¤&j]SjL Wr£V 
 C) WOSrLx]SpL Wr£V   D) WLs]SlL¡e]p Wr£V

 9. nPWÒ fqUY°tOoLp] mÌRÕŸ fLRuÕrpOÐ NkñLvjW¥ kq]Ye]¨OW. j¤W]p]
q]¨OÐ NkñLvj/NkñLvjWt]¤ JfLeV wq] ?

 a. IsæL nPWÒ fqUY°tORa JãvOU vs]p hPqU "Dkq]fs fqUY°¥'  D¥R¨LçOÐO.

 b. ‘k]’ (P) fqUY°¥ Xq vñO¨t]sPRa JãvOU SvY¾]¤ yµq]¨OÐO.

 c. ‘S’ fqUY°¥ V̈  Xq&Nhv oLi|o°t]sPRa WaÐO SkLWL¢ Wu]pOU.

 A) a oLNfU wq]pLeV   B) a, b, c wq]pLeV 

 C) a pOU b pOU wq]pLeV   D) b pOU c pOU wq]pLeV

 10. WLwVo}¡ fLuVvqp]¤ WLeRÕaOÐ sL¨ONy›]¢ c]SÕLy]ãVyV

 A) WSqvL B) RarLp] C) nUY¡ D) XLh¡

 11. SWqt¾]Rs JfV ^]sæp]sLeV SiLe] Rvç\ÿLŸU ò]f] R\áOÐfV  ?

 A) WLy¡SWLaV B) osÕOrU C) W¹P¡ D) kLs¨LaV

 12. SsLW¾]Rs JãvOU j}tU WPa]p RRzSv ae¤, Aa¤ ae¤ ò]f] R\áOÐfV CÍ| 
p]Rs JfV yUòLj¾LeV ?

 A) z]oL\¤ NkShwV   B) y]¨]U

 C) ^ÚO B£V WLwVo}¡   D) AqOeL\¤ NkShwV
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 13. Which of the following statement is/are correct about the NITI Aayog ?

 i. NITI Aayog was formed on 25th January 2014.

 ii. NITI Aayog comes under the Ministry of Commerce and Industry.

 iii. The full form of NITI Aayog is National Institution for Transforming India.

 iv. The NITI Aayog is a policy think tank of the government of India.

 A) Only i, iii   B) Only iii, iv 

 C) Only i, iv   D) All of the above (i, ii, iii and iv)

 14. In India, GST rate for various goods and services are

 A) 5%, 12%, 18%, 28%   B) 6%, 12%, 18%, 28%

 C) 5%, 12%, 18%, 26%   D) None of the above

 15. As per proposals of union budget of 2022 – 23, which of the following tax contributes 
maximum share out of the total tax revenue collection ?

 A) Union excise duty 

 B) Corporate tax

 C) Income tax  

 D) Goods and Service Tax

 16. Consider the following statements :

 i. India ranks first in the world in fruit production.

 ii. India ranks second in the world in the export of tobacco.
   Which of these statements is/are correct ?

 A) Only i B) Only ii C) Both i and ii D) Neither i nor ii

 17. Arrange the following sub-sectors of the service sector of the Indian economy in 
ascending order of their contributions to the GDP in recent years.

 i. Public administration, defence and other services.

 ii. Financial, real estate and business services.

 iii. Trade, hotels, transport, communication and services related to broadcasting.

 A) i, iii, ii B) i, ii, iii C) iii, ii, i D) ii, iii, i

 18. Consider the following statements :

 i. Agriculture sector’s contribution to the Indian economy is much higher than the world’s 
average.

 ii. The industry and services sector’s contribution is lower than the world’s average. 

  Which of these statements is/are correct ?

 A) Only i B) Only ii C) Both i and ii D) Neither i nor ii
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 13. j}f] BSpLY]Rj yUmÌ]\ÿ fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?

 i. 2014 ^jOvq] 25 jLeV j}f] BSpLYV qPk}Wq]\ÿfV.

 ii. vLe]^| v|vyLp oNÍLsp¾]jV W}u]sLeV j}f] BSpLYV vqOÐfV.

 iii. j}f] BSpLY]R£ kP¡¹qPkU CÍ|Rp kq]v¡¾jU R\áOÐf]jOç Shw}pòLkjU 
(National Institution for Transforming India) IÐLeV.

 iv. j}f] BSpLYV CÍ|¢ y¡¨Lq]R£ KqO SkLt]y] f]ËV aLËLeV.

 A) i, iii oLNfU   B) iii, iv oLNfU 

 C)  i, iv oLNfU   D) oOWt]¤ kr´ IsæLU (i, ii, iii, iv)

 14. CÍ|p]¤ v]v]i \q¨OWtORapOU Syvj°tORapOU ^].IyV.a]. (GST) j]q V̈

 A) 5%, 12%, 18%, 28%   B) 6%, 12%, 18%, 28%

 C) 5%, 12%, 18%, 26%   D) oOWt]¤ RWLaO¾]q]¨OÐf]¤ KÐOosæ

 15. 2022-23 Rs pPe]p¢ mcV̂ ã]R£ j]¡SÇw°¥ AjOyq]\ÿV, Cj]ÕrpOÐ j]WOf]Wt]¤ 
JfLeV RoL¾U j]WOf] vqOoLj¾]¤ j]ÐV kqoLvi] v]z]fU j¤WOÐfV ?

 A) pPe]p¢ IWVRRyyV c|PŸ] B) SWL¡ÕSrãV j]WOf]

 C) BhLp j]WOf]   D) \q V̈ Syvj j]WOf]

 16. fLRuÕrpOÐ NkñLvjW¥ kq]Ye]¨OW.

 i. kuv¡«°tORa D¤kLhj¾]¤ CÍ| SsLW¾V KÐLU òLj¾LeV.

 ii. kOWp]s WpãOof]p]¤ SsLW¾V qºLU òLj¾LeV CÍ|.

   CT NkñLvjWt]¤ JfLeV wq] ?

 A) i oLNfU   B) ii oLNfU 

 C) qºOU (i DU ii DU)    D) qºOosæ (i DU ii DU)

 17. CÍ|¢ yÒhVv|vòpORa Syvj SoXspORa fLRuÕrpOÐ DkSoXsW¥ yo}k 
v¡x°t]Rs GDP p]Ss¨Oç yUnLvjWtORa BSqLze NWo¾]¤ NWo}Wq]¨OW.

 i. RkLfOnqeU, Nkf]SqLiU, oãV Syvj°¥.

 ii. yLÒ¾]WU, r]p¤ ISðãV, m]y]jyV Syvj°¥.

 iii. v|LkLqU, SzLŸsOW¥, YfLYfU, Bwpv]j]opU, NkSƒkevOoLp] mÌRÕŸ  
Syvj°¥.

 A) i, iii, ii B) i, ii, iii C) iii, ii, i D) ii, iii, i

 18. fLRuÕrpOÐ NkñLvjW¥ kq]Ye]¨OW.

 i. CÍ|¢ yÒhVv|vòp]¤ WL¡x]W SoXspORa yUnLvj SsLW wqLwq]Sp¨L¥ vtRq 
WPaOfsLeV.

 ii. v|vyLp, Syvj SoXspORa yUnLvj SsLW wqLwq]Sp¨L¥ WOrvLeV. 

  CT NkñLvjWt]¤ JfLeV wq] ?

 A) i oLNfU B)  ii oLNfU C) qºOU, (i DU ii DU) D) i DU ii DU Asæ
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 19. Which among the following is not a part of the Mini Constitution ?

 A) Directive Principles were given precedence over Fundamental Rights

 B) Questions regarding elections of President, Prime Minister and Speaker of Lok Sabha 
was taken out of the purview of the judiciary

 C) Curtailed the Judicial Review power of the High Court

 D) Transferred five subjects from the State List to the Concurrent List

 20. The Writ that the Supreme Court issues to Inferior Courts or Tribunal Board, 
Corporation or any other type of administrative authority, commanding to perform 
their official duties that they have failed or refused to perform

 A) Habeas Corpus B) Certiorari C) Mandamus D) Quo-Warranto

 21. Which Article of the Indian Constitution specifies the powers and functions of Grama 
Sabha ?

 A) Article 243 A B) Article 40 A C) Article 40 B D) Article 243 B

 22. The idea of a Constituent Assembly for India was put-forward for the first time by

 A) Jawaharlal Nehru   B) Dr. B.R. Ambedkar

 C) K.M. Munshi   D) M.N. Roy

 23. Who was the calligrapher that hand-wrote the Indian Constitution ?

 A) Pingali Venkayya 

 B) Prem Behari Narain Raizada

 C) J.B. Kripalani 

 D) Krishnaswami Ayyar

 24. Who is the present Comptroller and Auditor General of India ?

 A) Girish Chandra Murmu  B) K.K. Venugopal

 C) Shashikant Sharma   D) Rajiv Mehrishi

 25. The Kerala State Planning Board is constituted to advise the state on development 
planning. Which among the following is/are the functions of the State Planning 
Board ?

 i. Formulating Five-Year and Annual Plans.

 ii. Writing the annual Economic Review.

 iii. Fostering cooperative federalism through structured support initiatives.

 iv. Interdepartmental coordination with respect to Plan schemes.

 A) Only i, ii and iii   B) Only ii, iii and iv

 C) Only i, ii and iv   D) All of the above (i, ii, iii and iv)
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 19. fLRu krpOÐvp]¤ JfLeV o]j] nqeZajpORa nLYosæL¾fV ?

 A) oTs]WLvWLw°St¨L¥ oL¡Yj]¡SÇw ff~°¥ V̈ oO¢Yej j¤W]

 B) qLNìkf], NkiLjoNÍ], SsLWVynL y×}¨¡ IÐ]vqORa f]qR´aOÕOoLp] mÌRÕŸ
   S\Lh|°¥ ^Oc}x|r]pORa kq]i]p]¤ j]ÐV Ku]vL¨]

 C) RRzS¨Laf]pORa ^Oc}x|¤ r]v|P Ai]WLqU RvŸ]¨Or\ÿO

 D) yUòLj s]ð]¤ j]ÐV AµV v]xp°¥ W¦Wr£V s]ð]Ss V̈ oLã]

 20. C¢l}q]p¡ SWLaf]W¥S¨L RRNam|Pe¤ SmL¡cV, SWL¡ÕSrx¢ ARsæË]¤ oSãRfË]sOU 
fq¾]sOç AcVo]j]SNy›ã}vV ASfLr]ã]W¥S¨L, Av¡ kqL^pRÕŸSfL j]¡vz]¨L¢  
v]yÚf]\ÿSfL Bp KTSh|LY]W \OofsW¥ j]¡vz]¨L¢ yONk}USWLaf] D¾qv]aOÐ 
r]ŸV.

 A) Szm]pyV SWL¡ÕyV   B) Ry¡Ÿ]SpLrr] 

 C) oL¢coyV   D) SW~L&vLrS£L

 21. CÍ|¢ nqeZajp]Rs JfV B¡Ÿ]̈ ]tLeV NYLoynpORa Ai]WLq°tOU Nkv¡¾j°tOU 
v|©oL¨OÐfV ?

 A) B¡Ÿ]¨]¥ 243 A B) B¡Ÿ]¨]¥ 40 A C) B¡Ÿ]¨]¥ 40 B D) B¡Ÿ]¨]¥ 243 B

 22. CÍ|àV KqO nqeZajL AyUmæ] IÐ BwpU Bh|oLp] oOSÐLŸV v\ÿfV ______ BeV.

 A) ^vz¡sL¤ RjzVrO   B) ScL. m]. B¡. AUSmhVW¡

 C) RW. IU. oO¢x]   D) IU. I¢. SrLpV

 23. CÍ|¢ nqeZaj RRWRWLºV IuOf]p WLs]NYLl¡ BqLeV ?

 A) k]UYLs] RvËá   B) SNkU m]zLq] jSq¢ RRryLh

 C) R^. m]. WQksLj]   D) WQxVey~Lo] Aá¡

 24. CÍ|pORa CSÕLuR¾ W¦SNaLt¡ B¢cV KLc]ã¡ ^jr¤ BqLeV ?

 A) Y]q]xV \NÎ oO¡oO   B) RW. RW. SveOSYLkL¤

 C) ww] WLÍV w¡Ú   D) qL^}vV RozVr]x]

 25. SWqt yUòLj ByPNfe SmL¡cV qPk}Wq]\ÿ]q]¨OÐfV yUòLj¾]R£ v]Wyj 
ByPNfe¾]¤ DkShwU j¤WLjLeV. fLRuÕrpOÐvp]¤ JRfLR¨pLeV yUòLj 
ByPNfe SmL¡c]R£ Nkv¡¾j°¥ ?

 i. kµvÃq, vL¡x]W kÈf]W¥ Bv]ëq]¨OÐO.

 ii. vL¡x]W yLÒ¾]W AvSsLWjU IuOfOÐO.

 iii. ZajLkqoLp k]ÍOeL yUqUn°t]sPRa yzWqe Rlcrs]yR¾ kq]SkLx]Õ]¨OW.

 iv. kæL£V Ø}oOWtOoLp] mÌRÕŸV C£¡ c]ÕL¡ŸVRo£V JSWLkjU.

 A) i DU ii DU iii DU oLNfU   B) ii DU iii DU iv DU oLNfU

 C) i DU ii DU iv DU oLNfU   D) oOWt]¤ kr´ IsæLU (i, ii, iii, iv)
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 26. Which of the following statement is/are correct regarding the Kerala State Disaster 
Management Authority (KSDMA) ?

 i. The Chief Minister of Kerala is the Chairman of KSDMA.

 ii. The KSDMA is an autonomous body with non-statutory powers. 

 iii. The KSDMA has ten members.

 A) Only i and ii   B) Only i and iii 

 C) Only ii and iii   D) All of the above (i, ii and iii)

 27. Which of the following statement (s) regarding the Mahatma Gandhi National Rural 
Employment Guarantee Scheme (MGNREGS) in Kerala are correct ?

 i. The MGNREG Scheme is fully implemented at the Gram Panchayat level.

 ii. The Gram Panchayat Secretary is the registration officer under MGNREG 
Scheme.

 iii. Both men and women mates are the beneficiaries of the Scheme.

 A) Only i and ii   B) Only ii and iii

 C) Only i and iii   D) All of the above (i, ii and iii)

 28. From the following table, find the proper match between the columns of Digital 
Initiatives and the Projects/Programs as part of e-Governance in Kerala.

  e-Governance Initiatives  Projects/Programs

 i. Knowledge/information Dissemination a. State Data Centre (SDC)

 ii. Delivery of e-Governance Services b. Akshaya Centre

 iii. Integrated Personnel Services c. KFON

 iv. Core Connectivity Infrastructure d. SPARK (Service and Payroll Administrative  
    Repository for Kerala)

 A) i – a  ii – b  iii – c   iv – d B) i – b  ii – a  iii – d   iv – c 

 C) i – c  ii – b  iii – a   iv – d D) i – d  ii – c  iii – b   iv – a

 29. The Department of Women and Child Development was established in Kerala in 
2017 to ensure holistic development of women and children. Which of the following 
function (s) are associated with the Department ?

 i. Provide for effective protection of women against domestic violence.

 ii. Protect women and children from sexual abuse and trafficking.

 iii. Advise the Government on all policy matters affecting women.

 A) Only i and ii   B) Only ii and iii 

 C) Only i and iii   D) All of the above (i, ii and iii)
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 26. SWqt yUòLj hOqÍ j]vLqe ASfLr]ã]Rp (KSDMA) yUmÌ]\ÿV fLRu krpOÐvp]¤ 
JfLeV wq] ?

 i. SWqt oOX|oNÍ]pLeV KSDMA pORa R\p¡oL¢.

 ii. j]poLjOyQfosæL¾ Ai]WLq°tOç KqO y~pUnqe òLkjoLeV KSDMA. 

 iii. KSDMA àV 10 AUY°tOºV.

 A) i DU ii DU oLNfU   B) i DU iii DU oLNfU 

 C) ii DU iii DU oLNfU   D) oOWt]¤ kr´ IsæLU (i, ii, iii)

 27. SWqt¾]Rs ozLÄLYLÌ] Shw}p NYLo}e RfLu]sOrÕV kÈf]Rp (MGNREGS) yUmÌ]\ÿV 
fLRu krpOÐvp]¤ JfLeV wq] ?

 i. MGNREG kÈf] kP¡eoLpOU NYLokµLp¾V fs¾]sLeV jaÕL¨OÐfV.

 ii. NYLokµLp¾V RyNWŸr]pLeV MGNREG Ø}o]R£ q^]SNy›x¢ KLl}y¡

 iii. Nñ}WtOU kOqOxÓLqOU kÈf]pORa YOeSnL©L¨tLeV.

 A) i DU ii DU oLNfU   B) ii DU iii DU oLNfU

 C)  i DU iii DU oLNfU   D) oOWt]¤ kr´ IsæLU (i, ii, iii)

 28. fLRu RWLaO¾ kŸ]Wp]¤ j]ÐV SWqt¾]Rs C&YSve¢y]R£ nLYoLpOtt c]^]
ã¤ yUqUn°tORa j]qWtOU kÈf]WtOU/kq]kLa]WtOU fÚ]sOç wq]pLp RkLqO¾U 
WRº¾OW.

  C-YSve¢yV yUqUn°¥  kÈf]W¥/SNkLNYLoOW¥

 i. Ar]vV/v]vq v]fqeU   a. yUòLj cLãL Ry£¡ (SDC)

 ii. C&YSve¢yV Syvj°tORa v]fqeU b. Aƒp SWNÎU

 iii. yUSpL^]f v|©]Yf Syvj°¥ c. KFON

 iv. SWL¡ WeWVã]v]ã] C¢NlLNy›WV\ÿ¡ d. SPARK (y¡v}yV B£V SkSrL¥ AcVo]j] 
     SNy›ã}vV RrSÕLy]SãLr] SlL¡ SWqt)

 A) i – a  ii – b  iii – c   iv – d B) i – b  ii – a  iii – d   iv – c 

 C) i – c  ii – b  iii – a   iv – d D) i – d  ii – c  iii – b   iv – a

 29. Nñ}WtORapOU WOŸ]WtORapOU yoNYv]WyjU DrÕL¨OÐf]jLp] 2017 sLeV SWqt¾]¤ 
vj]fL w]wOv]Wyj vWOÕV òLk]foLpfV. fLRuÕrpOÐ Nkv¡¾j°t]¤ JRfsæLU 
CT vWOÕOoLp] mÌRÕŸ]q]¨OÐO ?

 i. YL¡z]W k}cj¾]Rjf]Rq Nñ}W¥ V̈ lsNkhoLp yUqƒeU j¤WOW.

 ii. Nñ}WRtpOU WOŸ]WRtpOU RRsUY]WLf]NWo°t]¤ j]ÐOU Wa¾s]¤ j]ÐOU yUqƒ]¨OW.

 iii. Nñ}WRt mLi]¨OÐ IsæL jpkqoLp WLq|°t]sOU y¡¨Lq]Rj DkShw]¨OW.

 A) i DU ii DU oLNfU   B) ii DU iii DU oLNfU 

 C) i DU iii DU oLNfU   D) oOWt]¤ kr´v IsæLU (i, ii, iii)
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 30. Which of the following statement(s) regarding Lok Ayukta and Upa-Lok Ayukta in 
Kerala are correct ?

 i. The Governor appoints a person to be known as Lok Ayukta and two other persons 
to be known as Upa-Lok Ayuktas.

 ii. A person who holds office as the Lok Ayukta or an Upa-Lok Ayukta, after completion 
of tenure, are eligible for re-appointment to that office.

 iii. The Lok Ayukta Act deemed to have come into force on November 1998.

 A) Only i and ii   B) Only ii and iii 

 C) Only i and iii   D) All of the above (i, ii and iii)

 31. The Kerala State Literacy Mission Authority (KSLMA) is an autonomous institution 
under the General Education Department, Government of Kerala. Find the correct 
statement (s) associated with the Mission.

 i. The beneficiaries of the Mission are illiterates, neo-literates, school dropouts and 
those interested in Life Long Education.

 ii. The Mission creates scope for application of functional literacy to improve living 
conditions and quality of life.

 iii. It informs the people about developmental and welfare projects of the government.

 A) Only i and ii   B) Only ii and iii 

 C) Only i and iii   D) All of the above (i, ii and iii)

 32. Kudumbasree is a poverty eradication and women empowerment programme 
implemented by the Kerala Government State Poverty Eradication Mission 
(SPEM). Find the correct pair of Program Domains and Key Programs of the 
Kudumbasree.

 i. Women Empowerment � National Slum Development Programme (NSDP)

 ii. Economic Empowerment � Collective Farming

 iii. Social Empowerment � Destitute Identification and Rehabilitation

 A) Only i and ii   B) Only ii and iii

 C) Only i and iii   D) All of the above (i, ii and iii)

 33. The Directorate of social justice is a State Government machinery, which acts as 
the implementing organisation of all the social justice initiatives for the appropriate 
beneficiaries. Find the correct pair(s) of Social Justice Initiatives and the Beneficiaries 
promoted by the Directorate from the following set.

 i. Niramaya Health Insurance Scheme � Differently Abled 

 ii. Samanwaya � Social Defence

 iii. Abhayakiranam � Women Destitute

 iv. Sayamprabha Home � Senior Citizens

 A) Only i, ii and iii   B) Only ii, iii and iv 

 C) Only i, iii and iv   D) All of the above (i, ii, iii and iv)
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 30. SWqt¾]Rs SsLWLpO©, DkSsLWLpO© IÐ]vpOoLp] mÌRÕŸ NkñLvjWt]¤ 
JfLeV wq] ?

 i. Yv¡e¡ SsLWLpO© IÐr]pRÕaOÐ KqLRtpOU DkSsLWLpO© IÐr]pRÕaOÐ oãV 
qºV SkRqpOU j]po]¨OÐO.

 ii. SsLWLpO©pLSpL DkSsLWLpO©pLSpL KLl}yV vz]¨OÐ KqL¥, WLsLvi] kP¡¾]
pLWOSÒL¥ B KLl}y]Ss V̈ v}ºOU j]poj¾]jV A¡zfpOºV.

 iii. 1998 jvUmr]sLeV SsLWLpO© j]poU j]sv]¤ vÐfV.
 A) i DU ii DU oLNfU   B) ii DU iii DU oLNfU 
 C) i DU iii DU oLNfU   D) oOWt]¤ kr´v IsæLU (i, ii, iii)

 31. SWqt y¡¨Lq]R£ RkLfOv]h|Ln|Ly vWOÕ]jV W}u]sOç KqO y~pUnqe òLkjoLeV 
SWqt yUòLj yLƒqfL o]x¢ ASfLr]ã] (KSLMA). Cf]R£ hTf|vOoLp] mÌRÕŸ 
wq]pLp NkñLvjW¥ WRº¾OW.

 i. o]xR£ YOeSnL©L¨¥ j]qƒqqOU, jvyLƒqqOU, ØP¥ kbjU DSkƒ]\ÿvqOU,  
B^}vjLÍ v]h|Ln|Ly¾]¤ fL¤Õq|oOçvqOoLeV.

 ii. }̂v]fyLz\q|°tOU ̂ }v]f j]svLqvOU Ro\ÿRÕaO¾OÐf]jLp] Nkv¡¾j yLƒqfpORa 
NkSpLY¾]jV CT hTf|U AvyqRoLqO¨OÐO.

 iii. y¡¨Lq]R£ v]Wyj, Sƒo kÈf]WRt¨Or]\ÿV ^j°Rt Ar]p]¨OÐO.

 A) i DU ii DU oLNfU   B) ii DU iii DU oLNfU 

 C) i DU iii DU oLNfU   D) oOWt]¤ kr´ IsæLU (i, ii, iii)

 32. SWqt y¡¨L¡ yUòLj hLq]Nh| j]¡oL¡^j o]x¢ (SPEM) jaÕ]sL¨OÐ hLq]Nh| 
j]¡ÚL¡²j, Nñ} wL©}Wqe kq]kLa]pLeV WOaOUmè}. WOaOUmè}pORa wq]pLp S^Lc] 
SNkLNYLU RcLRopÔOWtOU W} SNkLNYLoOWtOU WRº¾OW.

 i. Nñ} wL©}WqeU � Shw}p S\q] v]Wyj kq]kLa] (NSDP)

 ii. yLÒ¾]W wL©}WqeU � WPŸO WQx]

 iii. yLoPz]W wL©}WqeU � AYf]WRt f]q]\ÿr]p¤, kOjqi]vLyU

 A) i DU ii DU oLNfU   B) ii DU iii DU oLNfU

 C) i DU iii DU oLNfU   D) oOWt]¤ kr´ IsæLU (i, ii, iii)

 33. yLoPz|j}f] cprW›SrãV KqO yUòLj y¡¨L¡ yUv]iLjoLeV, AfV D\]foLp 
YOeSnL©L¨¥¨Lp] IsæL yLoPz|j}f] yUqUn°tOU jaÕ]sL¨OÐ yUZajpLp] 
Nkv¡¾]¨OÐO. cprW›SrãV NkSoLŸV R\áOÐ yLoPz|j}f] yUqUn°tORapOU 
YOeSnL©L¨tORapOU wq]pLp S^Lc]Rp fLRuÕrpOÐ Ryã]¤ j]ÐV WRº¾OW.

 i. j]qLop BSqLY| C¢xOr¢yV kÈf] � n]ÐSwx]pOçv¡ 
 ii. yoj~p � yLoPz]W Nkf]SqLiU
 iii. AnpW]qeU � AjLgqLp Nñ}W¥
 iv. yLpUNkn SzLU � oOf]¡Ð kTqÓL¡ 

 A) i DU  ii DU iii DU oLNfU   B) ii DU iii DU  iv DU oLNfU 

 C) i DU  iii DU iv DU oLNfU   D) oOWt]¤ kr´ IsæLU (i, ii, iii, iv)
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 34. Which one of the following legislative procedure is not a device used for legislative 
control over executive in the State Legislature ?

 A) Question Hour   B) Calling Attention Motion
 C) Governor’s Address   D) Adjournment Debates

 35. Which of the following statement (s) regarding the ‘Citizen Charter’ of Kerala Local 
Self Government Department is/are correct ?

 i. It is published with the aim of providing the quality of service rendered to the public.
 ii. It provides information regarding the mandates of the concerned department.
 iii. It describes the services offered by the department at a time limit within which the 

services are provided.
 A) Only i and ii   B) Only ii and iii
 C) Only i and iii   D) All of the above (i, ii and iii)

 36. Which of the following statement (s) regarding the Governor of States in India is/
are correct ?

 i. The executive power of a state is vested with the Governor which he/she exercises 
himself or through subordinate officers.

 ii. The Governor gives assent, withholds assent or reserves for the consideration of 
the Bill passed by the legislative assembly.

 iii. The Governor is consulted for appointment of judges of the High Court.
 iv. The Governor cannot act at his/her own discretion while performing his functions.
 A) Only i , ii and iii   B) Only ii, iii and iv
 C) Only i, ii and iv   D) All of the above (i, ii, iii and iv)

 37. From the following list of medical procedures, choose the ones that could generate 
aerosols and hence aid in the spread of COVID-19.

 i. Intubation.
 ii. Arterial Line insertion.
 iii. Central Line insertion.
 iv. Laboratory Centrifugation.
 v. Percutaneous Intervention.
 vi. Manual Ventilation.
 A) Only ii, iv and v B) Only i, iv and vi C) Only i, iii and vi D) Only i and vi

 38.  The correct HIV life cycle sequence is
 A) Fusion – Binding – Budding – Reverse Transcription – Integration – Replication – 

Assembly
 B) Integration – Binding – Reverse Transcription – Fusion – Assembly – Replication – 

Budding
 C) Integration – Binding – Reverse Transcription – Fusion – Replication – Assembly – Budding
 D) Binding – Fusion – Reverse Transcription – Integration – Replication – Assembly – 

Budding
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 34. fLRu krpOÐ j]poj]¡ÚLe jaka]NWo°t]¤ JfLeV yUòLjR¾ IWõ]W|PŸ}v]R£ 
So¤ Rs^]Syæã}vV j]pNÍe¾]jLp] \¡\ÿ R\áRÕaL¾fV ?

 A) S\LSh|L¾q yopU   B) èÈL\sjU v]t]¨OÐO
 C) Yv¡e¡ NkyUYU   D) oLã]và¤ \¡\ÿW¥

 35. SWqt fSÇw y~pUnqe vWOÕ]R£ "kTqLvWLwSqX' yUmÌ]\ÿV fLRu krpOÐvp]¤ 
JfLeV wq] ?

 i. RkLfO^j°¥ V̈ j¤WOÐ Syvj°tORa YOej]svLqU DrÕL¨OW IÐ   
sƒ|S¾LRapLeV CfV Nkv¡¾]¨OÐfV.

 ii. mÌRÕŸ vWOÕ]R£ D¾qvOWRt¨Or]\ÿOç v]vq°¥ CfV j¤WOÐO.
 iii. SyvjU j¤WOÐ yopkq]i]p]¤ vWOÕV j¤WOÐ SyvjR¾ CfV v]vq]¨OÐO.
 A) i DU ii DU oLNfU   B) ii DU iii DU oLNfU
 C) i DU iii DU oLNfU   D) oOWt]¤ kr´ IsæLU (i, ii, iii)

 36. CÍ|p]Rs yUòLj Yv¡eRr yUmÌ]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?
 i. KqO yUòLj¾]R£ IWõ]W|PŸ}vV Ai]WLqU Yv¡e¡¨V j]ƒ]kÅoLeV, AfV y~pU 

ARsæË]¤ W}u]sOç DSh|LYò¡ oOSXjpLeV.
 ii. j]poyn kLyL¨]p m]sæ]R£ kq]YejàLp] Yv¡e¡ yÚfU, fa´OvpV¨¤ 

yÚfU ARsæË]¤ WqOf¤ j¤WOÐO.
 iii. RRzS¨Laf] ^cV^]oLqORa j]poj¾]jV Yv¡erOoLp] WPa]pLSsL\]¨OÐO.
 iv. \OofsW¥ j]¡vÿz]¨OSÒL¥ Yv¡e¡ V̈ y~ÍU v]Sv\jLi]WLq¾]¤ Nkv¡¾]¨L¢ 

Wu]p]sæ.
 A) i DU ii DU iii DU oLNfU   B) ii DU iii DU iv DU oLNfU
 C) i DU ii DU iv DU oLNfU   D) oOWt]¤ kr´ IsæLU (i, ii, iii, iv)

 37. fLRuÕrpOÐ Roc]¨¤ jaka]NWo°tORa kŸ]Wp]¤ j]ÐV IpSrLSyLtOW¥ 
yQì]¨LjOU AfOvu] SWLv]cV-19R£ v|Lkj¾]¤ yzLp]¨LjOU Wu]pOÐ KÐV 
RfqR´aO¨OW. 

 i. C¢ãOSmx¢
 ii. B¡a}q]p¤ RRs¢ C¢Ry¡x¢
 iii. Ry¢Na¤ RRs¢ C¢Ry¡x¢
 iv. sLSmLrŸr] Ry¢Na]l|PSYx¢
 v. Rk¡W|OSŸj]pyV C£¡Rv¢x¢
 vi. oLjOv¤ Rv£]Ssx¢
 A) ii DU iv DU v DU oLNfU B) i DU iv DU vi oLNfU C) i DU iii DU vi oLNfU D) i DU vi DU oLNfU

 38. wq]pLp HIV ^}v]f \NWNWoU.
 A) l|Px¢ – RRm¢c]UYV – m¸]UYV – r]SvuVyV NaL¢yVNW]kVx¢ – C£SNYx¢  

– Rrkæ]S¨x¢ – AyUmæ]
 B) C£SNYx¢ – RRm¢c]UYV – r]SvuVyV NaL¢yVNW]kVx¢ – l|Px¢ – AyUmæ]
   – Rrkæ]S¨x¢ – m¸]UYV 
 C) C£SNYx¢ – RRm¢c]UYV  – r]SvuVyV NaL¢yVNW]kVx¢ – l|Px¢ – Rrkæ]S¨x¢  

– AyUmæ] – m¸]UYV
 D) RRm¢c]UYV  – l|Px¢ – r]SvuVyV NaL¢yVNW]kVx¢ – C£SNYx¢ – Rrkæ]S¨x¢  

– AyUmæ] – m¸]UYV
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 39. This form of poisoning affects Cytochrome C oxidase and a progenitor form of Vitamin B12 
is usually administrated as first line treatment. The condition of concern here being

 A) Carbon monoxide poisoning B) Cyanide poisoning

 C) Phosgene poisoning   D) Arsenic poisoning

 40. Choose the odd one out.

 A) Levo-Thyroxine B) Oxytocin C) Glutamate D) Acetyl Choline

 41. Choose the correct statements :

 i. Wernicke Encephalopathy is caused due to niacin deficiency.

 ii. Korsakoff syndrome is caused due to a thiamine deficiency. 

 iii. Both disorders are associated with heavy alcohol use.

 iv. Immediate treatment can reverse Korsakoff syndrome but cannot reverse Wernicke 
Encephalopathy.

 A) Only i, ii and iv B) Only i and iii C) Only ii and iii D) Only ii, iii and iv

 42. Match the following.

 a. Productive Cough   p. Zika Virus

 b. Thrombocytopenia   q. Typhoid

 c. Foetal Microcephaly   r. Atypical Pneumonia

 d. Pelvic inflammatory disease s. Gonorrhoea

     t. Typical Pneumonia

     u. Dengue Fever

 A) a – r,  b – p,   c – s,   d – q B) a – t,  b – p,  c – u,   d – q 

 C) a – t,  b – u,  c – p ,  d – s  D) a – r,  b – u,   c – s,  d – s

 43. The COVID-19 Vaccine Sputnik V is of which type ?

 A) mRNA vaccine   B) Viral vector (Adenovirus based) vaccine

 C) Inactivated vaccine   D) Protein subunits vaccine

 44. From the following list, choose the ‘incorrect’ statements.

 i. Type 1 diabetes is the result of an auto-immune response.

 ii. Type 2 diabetes has a strong genetic correlation.

 iii. Type 1 diabetes is a fairly common lifestyle disease.

 iv. Severe obesity is a risk factor for Type 1 diabetes.

 A) Only i, ii and iv   B) Only iii and iv

 C) Only i and ii   D) Only ii, iii and iv
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 39. CT fq¾]sOç v]xmLi RRySãLSNWLU y] KLWõ]Scy]Rj mLi]¨OÐO, WPaLRf 
v]ãLo]¢ B12 R£ KqO SNkLR^j]ã¡ qPkoLeV yLiLqepLp] Bh|ZŸ \]W]ÃpLp] 
j¤WOÐfV. CT BwËL^jWoLp Avò.

 A) WL¡m¦ SoLSeLWVRRycV v]xmLi B) ypRRjcV v]xmLi
 C) SlLyVR^¢ v]xmLi   D) B¡Ryj]WV v]xmLi

 40. v|f|ñoLpfO RfqR´aO¨OW.

 A) RsSvLRRfSrLWõ]¢ B) KLWõ]SaLy]¢ C) YæPŸLSoãV D) AyRRã¤SWLt]¢

 41. wq]pLp NkñLvjW¥ f]qR´aO¨OW.

 i. j]pLy]¢ WOrvV oPsoLeV Rv¡j]¨] I¢RylSsLÕf] DºLWOÐfV.

 ii. fpLo]¢ WOrvV oPsoLeV SWL¡ySWLlV y]¢SNcLU DºLWOÐfV. 

 iii. qºV RRvWs|°tOU Ao]foLp oh|kLjvOoLp] mÌRÕŸ]q]¨OÐO.

 iv. Daja]pOç \]W]ÃàV SWL¡ySWLlV y]¢SNcLU oLãL¢ Wu]pOU, kSƒ Rv¡j]¨] 
I¢RylSsLÕf]Rp oLãL¢ Wu]p]sæ.

 A) i DU ii DU iv oLNfU   B) i DU iii DU oLNfU 

 C) ii DU iii DU oLNfU   D) ii DU iii DU iv DU oLNfU

 42. S\qOUka] S\¡¨OW.
 a. RNkLcW›}vV \Oo   p. y]W RRvryV
 b. SNfLUSmLRRySãLk}j]p q. RRaSlLpVcV
 c. Y¡nk]¼¾]R£ RRoSNWLRylLs] r. v]n]Ð j|PSoLe]p
 d. Rk¤v]WV SWLw^~sj SqLYU s. RYLSeLr]p

     t. yLiLqe j|PSoLe]p

     u. RcË]Õj]

 A) a – r,  b – p,   c – s,   d – q B) a – t,  b – p,  c – u,   d – q 

 C) a – t,  b – u,  c – p ,  d – s  D) a – r,  b – u,   c – s,  d – s

 43. COVID-19 vLWõ]¢ y×Oaj]WV V JfV fq¾]sOçfLeV ?
 A) mRNA vLWõ]¢   
 B) RRvr¤ RvWVã¡ (Adenovirus based) vLWõ]¢
 C) j]xVNW]p vLWõ]¢   
 D) SNkLŸ}¢ DkpPe]ãVyV vLWõ]¢

 44. fLRuÕrpOÐ s]ð]¤ j]ÐV ""RfãLp'' NkñLvjW¥ f]qR´aO¨OW.
 i. RRaÕV 1 NkSozU KqO y~pU SqLYNkf]SqLi¾]R£ lsoLeV.
 ii. RRaÕV 2 NkSoz¾]jV w©oLp ^j]fW mÌoOºV.
 iii. RRaÕV 1 NkSozU vtRq yLiLqeoLp KqO ^}v]fRRws] SqLYoLeV.
 iv. WaO¾ RkL¹¾a] RRaÕV 1 NkSoz¾]jOç KqO AkWa ZaWoLeV.
 A) i DU ii DU iv DU oLNfU   B) iii DU iv DU oLNfU

 C) i DU ii DU oLNfU   D) ii DU iii DU iv DU oLNfU



118/22 – M 

A -20- 

 45. The equilibrium state of a rectangular block of height H = 6.0 cm and density 900 kg/m3, 
which floats in a liquid of density 1350 kg/m3 is as shown in the figure.

  
   If the block is pushed downward so that it is fully submerged and then released, 

what is the magnitude of its upward acceleration ?

 A) 3.27 m/s2 B) 4.90 m/s2 C) 9.80 m/s2 D) 14.7 m/s2

 46. Arjun had a dinner rated 1000 kilocalorie. He wishes to do an equivalent amount 
of work in the gymnasium by lifting a 50 kg barbell. He can raise the barbell 2.0 m 
each time he lifts it and he regains no energy when he drops it. How many times 
must he raise the barbell to expend this much energy ?

 A) 240 B) 1020 C) 2100 D) 4200

 47. A sky diver jumps out of a hovering helicopter. A few seconds later, another sky 
diver jumps out and they both fall along the same vertical line. Ignore air resistance, 
so that both sky divers fall with the same acceleration. Which among the following 
statements is/are correct ?

 i. The difference in their speeds remains the same throughout the fall.

 ii. The vertical distance between the divers stays the same throughout the fall.

 iii. The first jumper always has a greater speed than the second.

 A) Only iii is correct   B) Only i and ii are correct

 C) Only i and iii are correct D) Only ii and iii are correct

 48. ln the March 2022, the quadrupole mass spectrometer CHASE – 2 onboard the 
Chandrayaan-2 mission observed the global distribution of Argon – 40 in the lunar 
exosphere. What does CHASE – 2 stand for ?

 A) Chandra’s Atmospheric Composition Explorer – 2

 B) Chandra’s Altitudinal Characteristics Explorer – 2

 C) Chandrayaan Altitudinal Characteristics Explorer – 2

 D) Chandrayaan Altitudinal Composition Examiner – 2

 49. Which shape is associated with the orbital designated by n = 2, l = 1 ?

 A) Spherical B) Tetrahedral C) Dumb-bell D) Pyramidal

 50. The azeotropic mixture of HCl and H2O is

 A) 36.6% HCl B) 20.24% HCl C) 48.2% HCl D) 57% HCl
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 45. 1350 kg/m3 yLNÎfpOç NhLvW¾]¤ RkL°]¨]a¨OÐ H = 6.0 cm DpqvOU 900 kg/m3 

yLNÎfpOoOç KqO h}¡Z\fOqLWQf]p]¤ Dç SmæL¨]R£ yÍOs]fLvò \]Nf¾]¤ 
WLe]\ÿ]q]¨OÐfV SkLRspLeV. 

  
  SmæL¨]Rj fLSu¨V fç]p]ŸL¤ AfV kP¡¹oLpOU Rvç¾]¤ oO°OWpOU k]Ð}aV 

kOr¾Ov]aOWpOU R\pÅL¤, Af]R£ oOWt]Ss¨Oç f~qeU INfpLeV ?

 A) 3.27 m/s2 B) 4.90 m/s2 C) 9.80 m/s2 D) 14.7 m/s2

 46. A¡^O¢ A¾LuU Wu]\ÿfV 1000 W]SsL WSsLr]pLeV. 50 W]SsLNYLU mL¡Rm¤ Dp¡¾] 
^]USjx|¾]¤ fOs|oLp S^Ls] R\áL¢ ASÇzU BNYz]¨OÐO. KLSqL fvepOU 
mL¡Rm¤ Dp¡¾OSÒL¥ ApL¥¨V 2.0 o}ã¡ Dp¡¾L¢ Wu]pOU, AfV v}uOSÒL¥ 
ApL¥ V̈ DT¡²U f]q]RW sn]¨]sæ. CNfpOU DT¡²U R\svu]¨L¢ Av¢ INf fve 
mL¡Rm¤ Dp¡¾eU ?

 A) 240 B) 1020 C) 2100 D) 4200

 47. KqO RRØ RRcv¡ KqO Wr°OÐ Rzs]SWLkVãr]¤ j]ÐV \LaOÐO. WOr\ÿV j]o]x°¥¨V 
SwxU oRãLqO RRØ RRcv¡ kOrS¾¨V \LaOWpOU Av¡ qºOU KSq sUmSqXp]¤  
v}uOWpOU R\áOÐO. vLpO Nkf]SqLiU AvYe]¨OW, AfOvu] qºV RRØRRcvrOWtOU 
KSq BWõ]sSrxj]¤ v}uOU. fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?

 i. AvqORa SvYfp]Rs v|f|LyU v}uV\p]sOaj}tvOU ASfka] fOaqOU.
 ii. AvqORa sUmoLp AWsU v}uV\p]sOaj}tU KSq j]sp]sLp]q]¨OU.
 iii. Bh|U \La]p B¥ V̈ IsæLpVSÕLuOU qºLo¾vRj¨L¥ vs]p SvYfpOºLWOU 

 A) iii oLNfoLeV wq]   B) i DU ii DU oLNfoLeV wq]

 C) i DU iii DU oLNfoLeV wq]  D) ii DU iii DU oLNfoLeV wq]

 48. 2022 oL¡\ÿ]¤, \NÎpL¢ – 2 hTf|¾]Rs W~LNcOSkL¥ oLyV Ry×SNW›Lo}ã¡ CHASE – 2 
\NÎ IWVSyLyVl]pr]Rs B¡SYL¦ – 40 R£ BSYLt v]fqeU j]q}ƒ]\ÿO. CHASE – 2 
IÍLeV yP\]Õ]¨OÐfV ? 

 A) \NÎLyV AãVSoLyVRlr]WV SWLSÒLy]x¢ IWõVSkæLr¡ – 2

 B) \NÎLyV A¥Ÿ]a|Pc]j¤ W|LqW›r]ð]¨V IWõVSkæLr¡ – 2

 C) \NÎpL¢ A¥Ÿ]a|Pc]j¤ W|LqW›r]ð]¨V IWõVSkæLr¡ – 2

 D) \NÎpL¢ A¥Ÿ]a|Pc]j¤ SWLSÒLy]x¢ IWõLo]j¡ – 2

 49.  JfV BWQf]pLeV  n = 2, l = 1 j]pO© kq]NWoevOoLp] mÌRÕŸ]q]¨OÐfV ?

 A) Ry×r]¨¤ B) RaNaLRzNc¤ C) cUmV&Rm¤ D) k]qo]c¤

 50. HCl, H2O IÐ]vpORa Ay]SpLSNaLk]WV o]è]foLeV

 A) 36.6% HCl B) 20.24% HCl C) 48.2% HCl D) 57% HCl
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 51. Calculate the pH of 0.001 M NaOH solution.

 A) 3 B) 10 C) 11 D) 7

 52. Which noble gas do not form clathrate compound with quinol ?

 A) Neon B) Argon C) Krypton D) Xenon

 53. “This Life at Play : A Memoir” is a book on the life of

 A) Girish Karnad   B) U.R. Anantha Murthy

 C) B.V. Karanth   D) Raja Rao

 54. “There Comes Papa” is a renowned painting by

 A) M.F. Husain   B) Anjaly Ela Menon

 C) Raja Ravi Varma   D) Rabindranath Tagore

 55. The South Indian singer who won Padma Bhushan in 2021

 A) S. Janaki   B) K.S. Chithra

 C) S.P. Balasubramanyam D) P. Susheela

 56. The total number of teams participating in 2026 Football World Cup

 A) 42 B) 38 C) 48 D) 34

 57. Salman Rushdie’s work published in the year 2021

 A) Liberalisation   B) Love is an Ex Country

 C) Languages of Truth   D) Empire of Pain

 58. Who won Fukuoka Grand Prize 2021 ?

 A) Karan Thappar   B) Vikram Seth

 C) Palagummi Sainath   D) Kuldip Nayyar

 59. The winner of Dada Saheb Phalke Award 2019

 A) Amitabh Bachchan   B) Lata Mangeshkar 

 C) Rajinikanth   D) Dev Anand

 60. EEPROM stands for
 A) Electrically Erasable Programmable Read-Only Memory
 B) Erasable Electronic Programmable Read-Only Memory
 C) Electrically Enabled Programmable Read-Only Memory
 D) None of the above

 61. Program that translate high-level programming language into machine code

 A) Compiler   B) Assembler 

 C) Interpreter   D) Both A) and C)
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 51. 0.001 M NaOH sLpj]pORa pH We¨L¨OW.

 A) 3 B) 10 C) 11 D) 7

 52. W~]SjLt]RjLÕU WæLSNfãV yUpO©U DºL¨L¾ SjLm]¥ vLfWU JfLeV ?

 A) j]SpL¦ B) B¡SYL¦ C) NW]kVSãL¦ D) RySjL¦

 53. “h]yV RRslV AãV Skæ : I RoSÚLp]¡” BqORa ^}v]fR¾¨Or]\ÿOç KqO kOñWoLeV ?

 A) Y]q}xV W¡eLaV   B) pO. B¡. BjÎoP¡¾]

 C) m]. v]. WLqÍV    D) qL^L rLvO

 54. “Sh¡ WUyV kÕ” IÐ NkwñoLp Rkp]£]°V BqOSafLeV  ?

 A) IU. IlV. zORRy¢   B) AÆs] Ct SoSjL¢

 C) qL^ qv]v¡Ú   D) qm}NÎjLg aLSYL¡

 55. 2021-¤ kÄnPx¦ Sja]p RfÐ]Í|¢ YLpW¢/YLp]W.

 A) IyV. ^LjW]   B) RW. IyV. \]Nf

 C) IyV. k]. mLsyONmùe|U D) k]. yOw}s

 56. 2026 lOaVSmL¥ Sv¥cV WÕ]¤ kRËaO¨OÐ BRW a}oOWtORa I¹U ?

 A) 42 B) 38 C) 48 D) 34

 57. y¤oL¢ rOxÉ]pORa JfO WQf]pLeV  2021-¤ Nky]È}Wq]\ÿfV ?

 A) s]mrRRsSyx¢   B) svV CTyV B¢ IWõV W¦Na]

 C) sLUSY~^yV KLlV NaPfV   D) IUkp¡ KLlV Rkp]¢

 58. 2021- -Rs lOWOSvL¨ NYL¢cV RRNkyV Sja]pfV BqV ?

 A) Wq¦ fLÕ¡   B) v]NWU SygV 

 C) ksYOÚ] yLpVjLgV   D) WO¤h}kV jáL¡

 59. 2019- -Rs hLhL yLz]mV lL¤R¨ AvL¡cV S^fLvV.

 A) Ao]fLnV m\ÿ¢ B) sf oSËxVW¡ C) q^j]WLÍV D) ShvV BjÎV

 60. EEPROM IÐf]R£ kP¡¹ qPkU.

 A) CsNW›]¨s] CRrym]¥ SNkLNYLom]¥ r}cV K¦s] RoÚr]

 B) CRrym]¥ CsSNW›Le]WV SNkLNYLom]¥ r}cV K¦s] RoÚr]

 C) CsNW›]¨s] IRjm]¤cV SNkLNYLom]¥ r}cV K¦s] RoÚr]

 D) oOWt]¤ RWLaO¾]q]¨OÐf]¤ KÐOosæ

 61. Dp¡Ð fs¾]sOç SNkLNYLo]UYV nLxRp Rox}¢ SWLc]Ss V̈ v]v¡¾jU R\áOÐ SNkLNYLU.

 A) WURRks¡   B) ARôUmæ¡ 

 C) C£¡RNkã¡    D) A) pOU C) pOU, qºOU
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 62. Debian LINUX is

 A) Desktop Operating System B) Server Operating System

 C) Both A) and B)   D) None of the above

 63. What is the full form of CERT-In ?

 A) Computer Emergency Response Team – India

 B) Computer Emerging  Restriction Team – India

 C) Computer Efficiency Response Team – India

 D) None of the above

 64. ___________ is a collection of internet-connected devices, such as servers, PC’s 
and mobile phones, which are infected and controlled by malware.

 A) Router B) Firewall C) Botnet D) VPN

 65. In case of any information sought is related to the life or liberty of a person, the State 
Public Information Officer is required to provide such information within

 A) 12 hours of the receipt of the request B) 24 hours of the receipt of the request

 C) 48 hours of the receipt of the request D) 72 hours of the receipt of the request

 66. The right to service mentioned under the Kerala State Right to Service Act, 2012 is 
available to

 A) General Public   B) Concerned Persons

 C) Eligible Persons   D) Applicants

 67. Among the following which is specifically mentioned as a right of consumers under 
the Consumer Protection Act, 2019 ?

 A) Right to Consumer Education B) Right to Consumer Awareness

 C) Right to Consumer Protection D) Right to Consumer Sensitisation

 68. As per the provisions of Transgender Persons (Protection of Rights) Act, 2019, a 
certificate of identity as transgender person can be issued by

 A) District Magistrate   B) Chief Judicial Magistrate

 C) First Class Judicial Magistrate D) Executive Magistrates

 69. As per the POCSO Act, 2012, the punishment for penetrative sexual assault is

 A) Not less than 3 years but may extend up to seven years

 B) Not less than 5 years but may extend up to ten years

 C) Not less than 7 years but may extend up to imprisonment for life

 D) Not less than 10 years but may extend up to imprisonment for life
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 62. c}m]p¢ LINUX IÍLeV ?
 A) RcyVWVSaLÕV KLÕSrã]UYV y]ðU B) Ry¡v¡ KLÕSrã]UYV y]ðU
 C) A)pOU B)pOU, qºOU   D) oOWt]¤ RWLaO¾]q]¨OÐf]¤ KÐOosæ

 63. CERT-In &R£ kP¡¹qPkU IÍLeV  ?
 A) WÒ|PŸ¡ Io¡^¢y] RryVSkL¦yV a}U – CÍ|
 B) WÒ|PŸ¡ ISo¡^]‚V RrNy›]ƒ¢ a}U – CÍ|
 C) WÒ|PŸ¡ Il]x|¢y] RryVSkL¦yV a}U – CÍ|
 D) oOWt]¤ RWLaO¾]q]¨OÐf]¤ KÐOosæ

 64. ___________ IÐfV oL¤Rvp¡ mLi]\ÿfOU j]pNÍ]¨RÕaOÐfOoLp Ry¡vrOW¥, 
k]y]W¥, RoLRRm¤ SlLeOW¥ fOa°]p C£¡RjãOoLp] mÌ]Õ]\ÿ]ŸOç DkWqe 
°tORa KqO SwXqoLeV.

 A) rPŸ¡ B) lp¡vL¥ C) SmLŸVRjãV D) VPN

 65. KqO v|©]pORa ̂ }v]fvOoLSpL y~LfNÍ|vOoLSpL mÌRÕŸ JRfË]sOU v]vq°¥ 
ASj~x]¨OWpLReË]¤, yUòLj kmæ]WV C¢l¡Sox¢ KLl}y¡ A¾qU v]vq°¥ 
Cj]ÕrpOÐvp]¤ j¤SWºfOºV.

 A) ASkƒ]\ÿf]jO SwxU 12 oe]¨Pr]jOç]¤ 
 B) ASkƒ]\ÿf]jO SwxU 24 oe]¨Pr]jOç]¤
 C) ASkƒ]\ÿf]jO SwxU 48 oe]¨Pr]jOç]¤   
 D) ASkƒ]\ÿf]jO SwxU 72 oe]¨Pr]jOç]¤

 66. 2012&Rs SWqt yUòLj SyvjLvWLw j]po¾]jV W}u]¤ kqLo¡w]\ÿ]q]¨OÐ 
SyvjLvWLwU Cj]ÕrpOÐv¡¨V sn|oLeV.

 A) RkLfO^jU   B) mÌRÕŸ v|©] 
 C) SpLY|jLp v|©]   D) ASkƒW¡

 67. DkSnL©Q yUqƒe j]poU 2019 NkWLqU DkSnL©L¨tORa AvWLwoLp] NkSf|WU 
kqLo¡w]\ÿ]q]¨OÐfV JfV ?

 A) DkSnL©Q v]h|Ln|Ly¾]jOç AvWLwU 
 B) DkSnL©Q AvSmLij¾]jOç AvWLwU
 C) DkSnL©Q yUqƒe¾]jOç AvWLwU 
 D) DkSnL©Q SmLiv¤¨qe¾]jOç  AvWLwU

 68. NaL¢yVR^¢c¡ SkuVy¦yV BW›V (Protection of Rights), 2019 NkWLqU NaL¢yVR^¢c¡ 
v|©]RpÐ RIc£]ã] y¡Ÿ]l]¨ãV j¤WOÐfV BqLeV ?

 A) ^]sæL o^]SNy›ãV   B) \}lV ^Oc}x|¤ o^]SNy›ãV
 C) KÐLU WæLyV ^Oc}x|¤ o^]SNy›ãV D) IWõ]W|PŸ}vV o^]SNy›ãV

 69. 2012-Rs SkLSWõL BW›V NkWLqU RRsUY]WLf]NWo¾]jOç w]ƒ IÍLeV ?
 A) 3 v¡x¾]¤ WOrpLRf 7 v¡xU vRq j}ŸLU
 B) 5 v¡x¾]¤ WOrpLRf 10 v¡xU vRq j}ŸLU
 C) 7 v¡x¾]¤ WOrpL¾fV  IÐL¤ ^}vkq|ÍU vRq favV sn]¨LU
 D) 10 v¡x¾]¤ WOrpL¾fV  IÐL¤ ^}vkq|ÍU vRq favV sn]¨LU
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 70. Among the following, which is enacted to prohibit triple talaq ?
 A) Muslim Women (Regulation of Marriage) Act, 2019
 B) Muslim Women (Regulation of Divorce) Act,  2019 
 C) Muslim Women (Protection of Rights on Marriage) Act, 2019
 D) Muslim Women (Protection of Rights on Divorce) Act, 2019

 71. The population of a city increases by 9% every year. If the present population is 65,400, 
what was it a year ago ?

 A)  54,000 B) 58,860 C) 60,000 D) 71,286

 72. If x x�
�

�3
7

2 1
9

, what is the value of x ?

 A)  1 B) 2 C) 3 D) 4

 73. If a train travels at 3
4

th
 of its original speed and reaches its destination by 20 minutes 

late, find the usual time in minutes taken by the train to complete the journey.
 A)  50 B) 60 C) 70 D) 80

 74. The average age of a group of 25 people was 28. If a man of 20 years leaves the 
group and another one enters into the group, the average age increases by 2. What 
is the age of the new one enters into the group ? 

 A)  50 B) 60 C) 70 D) 80

 75. Find the sum of all multiples of 6 those lie in between 100 and 400.
 A)  12450 B) 12201 C) 12500 D) 12750

 76. Choose the next number in the series. 4, 9, 25, 49, 121, 169, . . . 
 A)  196 B) 225 C) 256 D) 289

 77. If 1st November 2001 is Wednesday, 1st November 2005 will be
 A)  Friday B) Saturday C) Sunday D) Monday

 78. If Varun is in the 15th position from the bottom of a queue of 30 people, what is his 
position from the top of the queue ?

 A)  14 B) 15 C) 16 D) 17

 79. Choose the value of 54 54 54 3 54 54 46 3 54 46 46 46 46 46
54 54 46 46

� � � � � � � � � � � � �
� � �

 A)  1250 B) 1350 C) 1450 D) 1550

 80. If ‘AMERICA’ is coded in a certain way as ‘BDJSFNB’, find the right option for 
‘ENGLAND’ coded in the same way.

 A)  EOHMBOF B) EOBMHOF C) FOHMBOE D) FOBMHOE
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 70. fLRuÕrpOÐvp]¤ oO¾sLXV j]SqLi]¨OÐfLp] j]pooL¨]pfV.
 A) oOyæ}U Nñ}W¥ (v]vLz j]pNÍeU) j]poU, 2019
 B) oOyæ}U Nñ}W¥ (v]vLz SoL\j j]pNÍeU) j]poU,  2019 
 C) oOyæ}U Nñ}W¥ (v]vLzLvWLw yUqƒeU) j]poU, 2019
 D) oOyæ}U Nñ}W¥ (v]vLz SoL\j¾]jOç AvWLw°¥ yUqƒ]¨¤) j]poU, 2019

 71. KqO jYq¾]Rs ^jyUX| KLSqL v¡xvOU 9% v¡È]¨OÐO. CSÕLuR¾ ^jyUX| 
65,400 BReË]¤, KqO v¡xU oOÒV IÍLp]qOÐO ? 

 A)  54,000 B) 58,860 C) 60,000 D) 71,286

 72.  x x�
�

�3
7

2 1
9

BReË]¤, x R£ oPs|U IÍLeV ?

 A)  1 B) 2 C) 3 D) 4

 73. KqO RNap]¢ Af]R£ pgL¡À SvYfpORa 3
4

th

&¤ yµq]¨OWpOU 20 o]j]ãV RRvW] 

sƒ|òLj¾V I¾OWpOU R\pÅL¤, yLiLqepLp] pLNf kP¡¾]pL¨L¢ RNap]¢ 
IaO¨OÐ yopU o]j]ãOWt]¤ WRº¾OW.

 A)  50 B) 60 C) 70 D) 80

 74. 25 Skqa°OÐ KqO NYPÕ]R£ wqLwq] NkLpU 28 Bp]qOÐO. 20 vpôOç KqL¥ NYPÕ]¤ 
j]ÐV kOr¾OSkLWOWpOU oRãLqL¥ NYPÕ]¤ NkSvw]¨OWpOU R\pÅL¤, wqLwq] NkLpU 
2 Bp] v¡È]¨OU. NYPÕ]¤ NkSvw]\ÿ kOf]ppLtORa vpôV INfpLeV ?  

 A)  50 B) 60 C) 70 D) 80

 75. 100 jOU 400 Cap]sOç 6 R£ YOe]f°tORa BRWfOW WRº¾OW.
 A)  12450 B) 12201 C) 12500 D) 12750

 76. 4, 9, 25, 49, 121, 169, . . . kqÒqp]Rs AaO¾ jÒ¡ f]qR´aO¨OW.
 A)  196 B) 225 C) 256 D) 289

 77. 2001jvUm¡ 1 mOijLuV\pLReË]¤, 2005 jvUm¡ 1 _________Bp]q]¨OU. 
 A)  Rvç]pLuV\ B) wj]pLuV\ C) `LprLuV\ D) f]ËtLuV\

 78. 30 SkqOç W|Pv]¤ fLRu j]ÐV kf]jµLU òLj¾LeV vqO¦ IË]¤, W|Pv]jV 
oOWt]¤ j]ÐV AvR£ òLjU IÍLeV ? 

 A)  14 B) 15 C) 16 D) 17

 79.  54 54 54 3 54 54 46 3 54 46 46 46 46 46
54 54 46 46

� � � � � � � � � � � � �
� � �

R£ oPs|U f]qR´aO¨OW.

 A)  1250 B) 1350 C) 1450 D) 1550

 80. ‘AMERICA’ KqO NkSf|W q}f]p]¤ ‘BDJSFNB’, Bp] SWLcV R\pÅ]ŸORºË]¤, ASf  
q}f]p]¤ SWLcV R\pÅ ‘ENGLAND’ IÐf]jOç wq]pLp KLkVx¢ WRº¾OW.

 A)  EOHMBOF B) EOBMHOF C) FOHMBOE D) FOBMHOE
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 (i) English Grammar :

 81. My father will retire from service _________ a year.
 A)  of B) on C) in D) by

 82. I saw _________ one eyed person.
 A)  a B) an C) the D) no article

 83. She studies very hard every night, __________ ?
 A)  do she B) doesn’t she C) will she D) did she

 84. The brothers as well as their sister __________ good at their studies.
 A)  is B) was C) has D) are

 85. The car ___________ (break) down and we had to walk home.
 A)  break B) had broken C) has broken D) broke

 (ii) Vocabulary :

   i. One word substitutes :

 86. A small shop that sells fashionable clothes, cosmetics, accessories etc., is called a
 A)  Store B) Stall C) Booth D) Boutique

   ii. Idioms and their meanings :

 87. The meaning of the idiom ‘to leave someone in the lurch’ is
 A) To come to compromise with someone
 B) To put someone at ease
 C) Constant source of annoyance to someone
 D) To desert someone in his difficulties

  iii. Phrasal verbs :

 88. She ____________ the orphan as her own child.
 A)  brought up B) brought out C) brought in D) brought about

   iv. Foreign words and phrases :

 89. The foreign phrase Respondez S’il vous plait means
 A) Summons issued by the court B) Reply if you please
 C) Roll of honour   D) Etiquette

 v. Synonyms :

 90. Choose the correct synonym from the given options :
  Loquacious

 A)  Talkative B) Thirsty C) Beautiful D) Ambitious
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 91. wq]pLp khU f]qR´aO¨OW. 

 A) j]wmVhf B) j]êmVhf C) j]wmVif D) j]êmVif

 92. WOrO¨R£ kq|Lp khosæL¾SffV ? 

 A) ^UmOWU  B) DTt¢ C) WOrOjq]  D) WL¼¢

 93. o¨¾LpU – k]q]R\ÿuOfOW.

 A) o¨ + fLpU B) o¨¥ + fLpU C) oW¥ + fLpU D) oW¢ + fLpU

 94. "AUYOs}kq]o]fU'– IÐ NkSpLYU RWLº¡ÀoL¨OÐfV. 

 A) AUYRRvWs|U   B) kR¾¹U 

 C) RRWv]qs]¤ I¹LvOÐNf D) RRWWLsOWt]Rs v]qsOW¥

 95. ohU – yoLjkhU WRº¾OW.  
 A)  cUnU B) oh|U C) mOÈ] D) ofU

 96. Queer fish IÐ NkSpLYU RWLº¡ÀoL¨OÐRfÍV ?

 A) v]\]Nf ojOx|¢ B) WOãvLt] C) v]xoÃ|U D) yOÎq]pLp Nñ}

 97.  ̂ Lf|LsOçfO fP¾L¤ SkLWOSoL ? – IÐ R\Lsæ]¤ Nkf]ls]¨OÐfV.

 A) Nñ} v]qOÈf   B) wO\]f~ SmLiU 

 C) fLuVÐ ^Lf]¨LSqLaOç j]Î D) kOSqLYoj C±

 98. KãÕhRouOfOW.

  kb]¨LjLNYzoOçpL¥ 

 A) k]kLy] B) k]k}s]W C) ka}q¢ D) k]kb]xO

 99. v]kq}f khRouOfOW.

  ^LNYfV

 A) yOxOkVf] B) AsyU C) j]yUYU D) j]¡vÿ]WLqU

 100. If]¡s]UYo]sæL¾ khU WRº¾OW.

 A) y]UzU B) JWLW] C) Wj|W D) ozL¢
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S\Lh|°tORa BRW I¹U : 100 yopU : 90 o]j]ŸV 
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          DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

 1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. A, B, C, D IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

 2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]ˆ]ŸOºV.

 3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

 4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

 5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

 6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

 7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸO SkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

 8. CT S\Lh|SkÕr]Rs 1 oOf¤ 80 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU) 
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

 9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

 10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

 11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY] V̂ WrOÕ]¨OW.

 12. KLSqL wq]pO¾q¾]jOU KqO oL¡ V̈ sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡ V̈ jìoLvOWpOU 
  R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥ V̈ oL¡ V̈ jìoLvOWp]Š.

 13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

 14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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